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�F�2�5�B�5 �<�8�;�B�>�=�8�O�B�0 �5 ���@�0�7�8�;�8�O.�"�O �=�0�@�0�A�B�2�0 �C�<�5�@�5�=�> �1�J�@�7�>,

�?�@�8 �?�>�4�E�>�4�O�I�8 �C�A�;�>�2�8�O- �C�<�5�@�5�=�0 �A�;�J�=�G�5�2�0 �A�2�5�B�;�8�=�0,

�A�2�5�6 �2�J�7�4�C�E �8 �5�6�5�4�=�5�<�=�> �?�C�;�2�5�;�8�7�8�@�0�=�5 �=�0 �2�J�7�4�C�E�0

�>�:�>�;�> �=�5�O.���7�8�A�:�2�0 �5�6�5�4�=�5�2�=�> �?�>�;�8�2�0�=�5�  �8 �?�>�4�E�@�0�=�2�0�=�5

�A �B�>�@�>�2�5 �A �2�8�A�>�:�> �D�>�A�D�>�@�=�> �A�J�4�J�@�6�0�=�8�5 �?�@�5�7 �;�O�B�>�B�> �8

�5�A�5�=�B�0, �7�0 �4�0 �A�5 �?�>�4�?�>�<�>�3�=�5 �F�J�D�B�5�6�0 �8 �4�0 �7�0�O�:�=�0�B �=�>�2�8�B�5

�8�7�4�J�=�:�8 �?�@�5�4�8 �=�0�A�B�J�?�2�0�=�5�B�> �=�0 �7�8�<�0�B�0.���>�4�E�>�4�O�I�8 �A�0

�3�>�B�>�2�8�B�5 �?�>�G�2�5�=�8 �A�C�1�B�@�0�B�8 �7�0 �>�@�E�8�4�5�8.� �0�7�<�=�>�6�0�2�0 �A�5

�G�@�5�7 �@�0�7�4�5�;�O�=�5 �=�0 �@�0�A�B�5�=�8�5�B�>.  

�� �?�@�>�4�J�;�6�5�=�8�5 �=�0 �<�=�>�3�> �3�>�4�8�=�8, �?�@�>�8�7�2�>�4�8�B�5�;�8�B�5 �=�0

�>�@�E�8�4�5�8 �=�0�@�8�G�0�E�0 �<�8�;�B�>�=�8�8 �A�0�<�> �A�B�C�4�5�=�>�;�N�1�8�2�8�B�5 �8�;�8

�B�0�:�0 �=�0�@�5�G�5�=�8�B�5 �:�>�;�C�<�1�8�9�A�:�8 �A�>�@�B�>�2�5. ���A�B�0�=�0�;�8�B�5

�2�8�4�>�2�5, �A �?�@�>�8�7�E�>�4 �>�A�=�>�2�=�> �>�B ���@�0�7�8�;�8�O �1�O�E�0

�?�@�5�=�5�1�@�5�3�2�0�=�8. �!�5�3�0 �B�0�7�8 �=�5�A�?�@�0�2�5�4�;�8�2�>�A�B �5 �>�?�@�0�2�5�=�0.

�!�?�>�@�5�4 �?�>�A�;�5�4�=�8�B�5 �:�;�0�A�8�D�8�:�0�F�8�8, �2�A�8�G�:�8 �2�8�4�>�2�5 �:�>�8�B�>

�4�>�A�5�3�0 �7�=�0�5�E�<�5 �:�0�B�> �<�8�;�B�>�=�8�8 �A�5 �@�5�:�;�0�A�8�D�8�F�8�@�0�B �2 �@�>�4

Miltoniopsis �8 �A�0�<�> �1�@�0�7�8�;�A�:�8�B�5 �2�8�4�>�2�5 �8�<�0�B �?�@�0�2�>�B�> �8

�?�@�8�2�8�;�5�3�8�O�B�0 �4�0 �A�5 �=�0�@�8�G�0�B �<�8�;�B�>�=�8�8.
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���@�0�7�8�;�A�:�8�B�5 �<�8�;�B�>�=�8�8 �2�:�;�N�G�2�0�B �4�5�2�5�B �2�8�4�0: Miltonia anceps, M. candida, M.

clowesii, M. cuneata, M. flavescens, M. kayasimae, M. regnellii, M. russelliana, �8 M. spectabilis. ���>�A�:�>�@�> �:�J�<

�3�@�C�?�0�B�0 �A�5 �G�8�A�;�O�E�0 �>�I�5 2 �2�8�4�0: M. schroederiana �8 M. warscewiczii, �=�> �A�5�3�0 �B�5

�A�0 �:�;�0�A�8�D�8�F�8�@�0�=�8 �:�0�B�> Oncidium schroederiana �8 Oncidium fuscatum. 

���8�;�B�>�=�8�8�B�5 �8�<�0�B �3�>�;�5�<�8, �:�@�0�A�8�2�8 �8 �B�@�0�9�=�8 �F�2�5�B�>�2�5, �A�<�O�B�0

�A�5 �G�5 �A�0 �;�5�A�=�8 �7�0 �>�B�3�;�5�6�4�0�=�5, �=�> �2�J�?�@�5�:�8 �B�>�2�0 �4�J�;�3�>

�2�@�5�<�5 �A�0 �1�8�;�8 �?�@�5�=�5�1�@�5�3�2�0�=�8 �>�B �>�1�I�5�A�B�2�>�B�>. ���5�@�>�O�B�=�>

�?�@�8�G�8�=�0�B�0 �5 ,�G�5 �B�5 �=�5 �A�0 �G�0�: �B�>�;�:�>�2�0 �0�B�@�0�:�B�8�2�=�8 �:�0�B�>

�1�;�8�7�:�8�B�5 �8�< �@�>�4�A�B�2�5�=�8�F�8 Miltoniopsis - �B�5�<�5�=�C�6�5�=�8�B�5 �>�@�E�8�4�5�8.

���J�?�@�5�:�8 �2�A�8�G�:�> �5 �8�7�:�;�N�G�8�B�5�;�=�> �A�B�@�0�=�=�0 �?�>�G�B�8 �?�J�;�=�0�B�0

�;�8�?�A�0 �=�0 �8�=�D�>�@�<�0�F�8�O �7�0 �8�A�B�>�@�8�O�B�0 �=�0 �B�5�7�8 �>�@�E�8�4�5�8, �:�0�:,

�:�>�3�0 �8 �?�@�8 �:�0�:�2�8 �>�1�A�B�>�O�B�5�;�A�B�2�0 �A�0 �1�8�;�8 �>�B�:�@�8�B�8. 
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���@�0�7�8�;�A�:�8�B�5 �2�8�4�>�2�5 �A�5 �:�@�J�A�B�>�A�2�0�B �;�5�A�=�> �A �?�>�2�5�G�5�B�>

�?�@�5�4�A�B�0�2�8�B�5�;�8 �=�0 Brassia. 

�����)�� �#�!���������/ ���� ���"����������������

�!�����"��������

1500-3000 fc. - �O�@�:�0, �=�> �@�0�A�5�O�=�0 �A�2�5�B�;�8�=�0 �A�J�A �7�0�A�5�=�G�2�0�=�5 �2

�=�0�9-�3�>�@�5�I�8�B�5 �G�0�A�>�2�5. ���5�>�1�E�>�4�8�<�> �5 �?�>�G�B�8 �?�>�A�B�>�O�=�=�>

�4�2�8�6�5�=�8�5 �=�0 �2�J�7�4�C�E�0, �>�A�>�1�5�=�> �0�:�> �@�0�A�B�5�=�8�5�B�> �5

�8�7�;�>�6�5�=�> �=�0 �?�>-�A�8�;�=�0 �A�2�5�B�;�8�=�0. ���J�7�<�>�6�=�> �5 �4�0�6�5

�>�B�3�;�5�6�4�0�=�5 �2 �C�A�;�>�2�8�O�B�0 �E�0�@�0�:�B�5�@�=�8 �7�0 �:�0�B�;�5�O �B.�5.

�4�8�@�5�:�B�=�> �A�;�J�=�F�5, �=�> �B�>�3�0�2�0 �;�8�A�B�0�B�0 �=�0 �<�8�;�B�>�=�8�O�B�0 �A�B�0�2�0�B

�6�J�;�B�5�=�8�:�0�2�8. 

�������������!�"

80-85% �?�@�5�7 �F�O�;�0�B�0 �3�>�4�8�=�0. �� �5�A�B�5�A�B�2�5�=�8 �C�A�;�>�2�8�O �A�5 �?�>�4�4�J�@�6�0

�?�>�A�B�>�O�=�=�0 �2�8�A�>�:�0 �2�;�0�3�0 �>�B : �4�J�6�4�>�2�5�B�5, �2�O�B�J�@�J�B �:�>�9�B�>

�4�C�E�0 �>�B �>�:�5�0�=�0, �<�J�3�;�0�B�0 �8 �>�1�8�;�=�0�B�0 �A�C�B�@�5�H�=�0 �@�>�A�0.

�%�0�@�0�:�B�5�@�=�0 �5 �;�8�?�A�0�B�0 �=�0 �8�A�B�8�=�A�:�8 �A�C�E �?�5�@�8�>�4. 

�� �4�>�<�0�H�=�8 �C�A�;�>�2�8�O �B�@�O�1�2�0 �4�0 �>�A�8�3�C�@�8�< �>�1�8�;�=�> �?�>�;�8�2�0�=�5

�?�@�5�7 �?�@�>�;�5�B�B�0 �8 �;�O�B�>�B�>, �4�>�:�0�B�> �@�0�A�B�5�=�8�O�B�0 �A�0 �0�:�B�8�2�=�8.

���@�5�7 �5�A�5�=�B�0 �?�>�A�B�5�?�5�=�=�> �A�5 �=�0�<�0�;�O�2�0 �?�>�;�8�2�0�=�5�B�>,

�:�>�3�0�B�> �=�>�2�8�B�5 �8�7�4�J�=�:�8 �4�>�A�B�8�3�=�0�B �7�@�O�;�>�A�B �8 �F�2�5�B�>�2�5�B�5

�?�>�2�O�E�=�0�B. ���@�5�7 �7�8�<�0�B�0 �?�>�;�8�2�0�=�5�B�> �A�5 �=�0�<�0�;�O�2�0 �>�I�5,

�>�A�>�1�5�=�> �0�:�> �>�@�E�8�4�5�8�B�5 �A�5 �>�B�3�;�5�6�4�0�B �2 �C�A�;�>�2�8�O�B�0 �=�0

�:�J�A�8�O �4�5�= �8 �?�>-�=�8�A�:�8�B�5 �7�8�<�=�8 �B�5�<�?�5�@�0�B�C�@�8. ���A�5 �?�0�:

�<�8�;�B�>�=�8�8�B�5 �=�5 �B�@�O�1�2�0 �=�8�:�>�3�0 �4�0 �8�7�A�J�E�2�0�B �=�0�?�J�;�=�>. �"�>�2�0

�<�>�6�5 �4�0 �A�5 �>�A�8�3�C�@�8 �G�@�5�7 �?�5�@�8�>�4�8�G�=�> �=�0�?�@�J�A�:�2�0�=�5 �A�C�B�@�8�=

�8 �;�5�:�> �?�>�;�8�2�0�=�5 �=�0 2 �A�5�4�<�8�F�8 ( �?�@�5�?�>�@�J�G�0�=�8�O�B �@�5�6�8�< �5

�>�B�=�>�A�8�B�5�;�5�= �8 �7�0�2�8�A�8 �>�B �:�>�=�:�@�5�B�=�8�B�5 �C�A�;�>�2�8�O). 

�"��������� ���"�#� ��

���=�5�2�=�8 �;�5�B�=�8 �B�5�<�?�5�@�0�B�C�@�8: 24-26 �3�@�0�4�C�A�0 �8 �=�>�I�=�8 18 �3�@�0�4�C�A�0.

���8�<�=�8 �4�=�5�2�=�8 �B�5�<�?�5�@�0�B�C�@�8 20-21 �3�@�0�4�C�A�0 �8 �=�>�I�=�8 13-14

�3�@�0�4�C�A�0. ���@�5�?�>�@�J�G�2�0 �A�5 �>�@�E�8�4�5�8�B�5 �4�0 �A�5 �>�B�3�;�5�6�4�0�B �?�@�8

�B�5�<�?�5�@�0�B�C�@�8 �A 2-3 �3�@�0�4�C�A�0 �?�>-�=�8�A�:�8 �>�B �?�>�A�>�G�5�=�8�B�5

�<�0�:�A�8�<�0�;�=�8. 

�"��� ������

���7�?�>�;�7�2�0 �A�5 �1�0�;�0�=�A�8�@�0�= �B�>�@ �A �@�0�7�@�5�6�4�0�=�5 1/4 �4�> 1/2 �>�B

�A�B�0�=�4�0�@�B�=�0�B�0 �4�>�7�8�@�>�2�:�0. ���@�5�?�>�@�J�G�2�0 �A�5 �?�@�8�;�0�3�0�=�5�B�> �=�0

�B�>�@ �A �2�8�A�>�:�> �D�>�A�D�>�@�=�> �A�J�4�J�@�6�0�=�8�5 �?�@�5�7 �;�O�B�>�B�> �8 �5�A�5�=�B�0,

�7�0 �4�0 �A�5 �?�>�4�?�>�<�>�3�=�5 �F�J�D�B�5�6�0 �8 �4�0 �7�0�O�:�=�0�B �=�>�2�8�B�5 �8�7�4�J�=�:�8

�?�@�5�4�8 �=�0�A�B�J�?�2�0�=�5�B�> �=�0 �7�8�<�0�B�0. 

�!�#���!�"� ���"
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�!�<�O�B�0 �A�5, �G�5 �A�5 �@�0�7�2�8�2�0�B �=�0�9-�4�>�1�@�5 �:�0�G�5�=�8 �2�J�@�E�C �:�>�@�: �8�;�8

�?�;�0�:�8 �>�B tree-fern fiber, �=�> �B�>�3�0�2�0 �2�J�7�=�8�:�2�0 �?�@�>�1�;�5�< �A

�?�>�4�4�J�@�6�0�=�5�B�> �=�0 �2�8�A�>�:�0�B�0 �2�;�0�6�=�>�A�B. ���:�> �<�8�;�B�>�=�8�8�B�5 �A�0

�:�0�G�5�=�8, �B�@�O�1�2�0 �4�0 �A�5 �?�>�;�8�2�0�B �5�6�5�4�=�5�2�=�>, �0 �?�@�8 �3�>�@�5�I�> �8

�A�C�E�> �2�@�5�<�5-�?�> �=�O�:�>�;�:�> �?�J�B�8 �4�=�5�2�=�>. 

���0�B�>�2�0 �2 �?�>�2�5�G�5�B�> �A�;�C�G�0�8, �<�8�;�B�>�=�8�8�B�5 �A�5 �>�B�3�;�5�6�4�0�B �2

�:�>�H�=�8�F�8 �8�;�8 �A�0�:�A�8�8 �2 �A�<�5�A �>�B �1�>�@�>�2�8 �:�>�@�8 ( �<�0�;�:�8

�?�0�@�G�5�=�F�0), tree-fern fiber, �?�5�@�;�8�B, �4�J�@�2�5�=�8 �2�J�3�;�8�I�0 �B.�5. �A�C�1�A�B�@�0�B �A

�1�J�@�7 �4�@�5�=�0�6, �:�>�9�B�> �2�A�5 �?�0�: �7�0�4�J�@�6�0 �4�>�A�B�0�B�J�G�=�> �2�;�0�3�0.

���5�;�0�B�5�;�=�> �5 �4�0 �A�5 �?�@�5�A�0�6�4�0�B �2�A�O�:�0 �3�>�4�8�=�0, �7�0�I�>�B�> �?�>�@�0�4�8

�2�8�A�>�:�0�B�0 �2�;�0�3�0 �A�C�1�A�B�@�0�B�J�B �7�0�?�>�G�2�0 �4�0 �A�5 �@�0�7�?�0�4�0

�A�@�0�2�=�8�B�5�;�=�> �1�J�@�7�>.

�� �?�C�1�;�8�:�0�F�8�O�B�0 �A�0 �8�7�?�>�;�7�2�0�=�8 �<�0�B�5�@�8�0�;�8 �>�B FlowersNet.info
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